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Algebra 

Solving Inequalities

Name___________________________________

Date________________  Period____

©m W2D0W1V5y wKKu\tXaZ ESboifgtewkaUrceu ULvLGCH.m M DAflblB ZrjirgHhMtyse Fr^eKsHearZvTeod`.

Solve each inequality and graph its solution.

1)  15 ³ 8x + 1 - 2

-6 -5 -4 -3 -2 -1 0 1 2 3 4

2)  24 £ -6k + 8 - 2k

-10 -8 -6 -4 -2 0

3)  88 > -8(x - 6)

-12 -10 -8 -6 -4 -2

4)  -7(-2x - 3) < 91

-2 -1 0 1 2 3 4 5 6 7 8

5)  7(1 - 4x) - 2(6x - 2) ³ 11

-3 -2 -1 0 1 2 3 4 5 6 7

6)  43 > 5(1 - 3x) - (x - 6)

-4 -3 -2 -1 0 1 2 3 4 5 6

7)  -7(1 - m) > 3(1 + 2m)

3 4 5 6 7 8 9 10 11 12 13

8)  -3(n + 4) £ -6(n - 5)

12 13 14 15 16 17 18 19 20 21 22
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Answers to Solving Inequalities

1)  x £ 2 :  
-6 -4 -2 0 2 4

2)  k £ -2 :  
-10 -8 -6 -4 -2 0

3)  x > -5 :  
-12 -10 -8 -6 -4 -2

4)  x < 5 :  
-2 0 2 4 6 8

5)  x £ 0 :  
-2 0 2 4 6

6)  x > -2 :  
-4 -2 0 2 4 6

7)  m > 10 :  
4 6 8 10 12

8)  n £ 14 :  
12 14 16 18 20 22


